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MAC 1140 Exam 3 Part 1

You are not permitted to use a calculator for this portion of the exam.  When you have finished answering these questions, hand in this sheet to obtain the second portion of the exam.  You must provide complete answers to the questions.  Correct answers without supporting work will receive minimal credit.

1. Express 
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2.  Find the domain of 
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3.  Find the range and horizontal or vertical asymptotes of 
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4.  Find the domain of 
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5.  Find the range and horizontal or vertical asymptotes of 
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6.  Solve 
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 by substitution.

7.  Solve 
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 by elimination.

For questions 8-13, use the matrices 
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8.  Find 
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9.  Find 
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10.  Find 
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11.  Find 
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12.  Find 
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13.  Find 
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Exam 3 Part II

For this portion of the exam, you are permitted to use a graphing calculator.  You must answer each question completely.  Correct answers without supporting work will receive minimal credit.

1.  The population of the world in 1987 was 5 billion and the relative growth rate was estimated at 2% per year.  Assuming that the world population follows an exponential growth model, find the projected world population in 1995.

2.  Rewrite 
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 in a form with no logarithm of a product, quotient, or power.

3.  Evaluate 
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 correct to three decimal places.

4.  Solve 
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 for x correct to three decimal places.

5.  Solve 
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6.  Solve 
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7.  Solve 
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 using the inverse of the coefficient matrix.

8.  Solve 
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 using Cramer’s rule.  You may use your calculator to compute any determinants that you need, but label each appropriately.
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